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(sea truth)

96-90  91-95 96-100 100-105

27-30  31-34 3H-3  39-42

2-23

6-18 192 24-25  26-30
) 3
4.1 colour density slicing 18 2530

( ) ) L) 2 ) 3



81-90 91-100  101-110 111120 121-130

) 1

32-35 36-40 41-47 48-53 5459 60-67

) 2

0% 2635 3640 4150 51-60

) 3

4.2 colour density slicing

( )) 1) 2 )

5

2531

5

3 km
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70-85 86-95 96-105 106-115  116-125  126-135

19-27 28-34 35-41 42-48 49-58

117 18-22 23-21 28-32 33-38

4.3 colour density slicing 19 2537
( py)y 1)y 2 ) 3
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70-84 85-04 95-104  105-114 115128

20-30 3137 38-44 4551 5258

15-23 24-28 29-34 35-39 40-50

) 3

4.4 colour density slicing 10 2537
( p) 1) 2 ) 3
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69-80 81-90 91-100 101-110 111-125 126-140

N) AMNITALVAULAATIFATIDIULWA 1

“ =

20-30 30-35 36-40 41-45 46-55 56-65

12-20 21-25 26-30 31-35 36-45 46-55

4.5 colour density slicing 29 2540
( ) 1)y 2 ) 3
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86-106  107-126  127-146  147-166  167-186

25-35 36-45 46-55 56-65 66-75 76-90

20-30 31-35 36-40 41-45 46-55 56-65

) 3
| - 1 2 3 km
4.6 colour density slicing il 2540

( y)y 1)y 2 ) 3
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65-75 76-80 81-85 86-90 91-100

2221 28-31 32-35 36-39 40-43

13-15 16-18 19-21 22-24 2521

) 3

4.7 colour density slicing 19 2543
( 2) 1) 2 ) 3
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70-80 81-85 86-90 91-95 96-100  100-110

21-25 26-30 31-35 36-40 41-45

17-20 21-24 25-28 29-32 33-36

) 3

4.8 colour density slicing 12 2543
( ) 1) 2 ) 3
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™
4.9-4.17
X
4.1

X Y
Band 1 Logssec
Band 2 Log SSC
Band 3 Log SSC
Band(3+1) Log SSC
Band(3+2) Log SSC
Band (3/1) Log SSC
Band (3/2) Log SSC
Band (3/(1+2)) Loy SSC
Band (3/(1+2+3))  Log SSC

19 2543

19 2543

Log SSC = (0.0032 * Band 1) + 0.02369

Lag SSC = (0.01318 *Band 2) - 0.17964

Log SSC = (0.03037 *Band 3) - 040196

Lag SSC = (000581 *Band (3+1)) - 0.32983
Log SSC = (0.01129 * Band (3+2) - 0.37029
Log SSC = (242886 *Band (3/1)) - 0.36759
Lag SSC = (092272 * Band (312)) - 0.29638

Lag SSC = (3.92492 *Band (3/(1+2)) - 045502
Lag SSC = (5.64677 * Band (3/(1+2+1)) - 0.60998

R2
0.046
0.29
0.80
0.24
0.55
0.67
0.28
0.63
0.63

58

41

Landsat



4.18 - 4.26
4.2

X Y
Band 1 Log $SC
Band 2 Log SSC
Band 3 Log SSC
Band(3+1) Loy SSC
Band(3+2) Loy SSC
Band (31) Log SSC
Band (312) Log SSC
Band (3/(142)) o s5C
Band (3/(14+243)) | gq s5C

41
12 2543

4.2

12 2543
12 2543

Log SSC =(0.01162* Band 1) - 0.93208
Log SSC =( 0.02922 *Band 2) - 0.84115
Log SSC =(0.03479 *Band 3) - 0.71413
Log SSC = (0.01018 *Band (3+1)) - 1.05804
Log SSC = (0.01888 *Band (3+2) - 0.9684

Log SSC = (2.99986 *Band (3/1)) - 0.61339
Log SSC = (0.8913 *Band (3/2)) - 0.46165

Log SSC = (4.09819 *Band (3/(1+2)) - 0.6139

Log SSC = (5.83819 *Band (3/0+2+D) - 0.7668

19

1 2

Landsat TM 0.63 - 0.69

4.2

04
045
0.2
0.56
0.62
0.33
0.22

0.32
0.31
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log SSC

log SSC

0.55
.
0.50
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0.55

0.50

0.45 4

0.40 -
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0.30

0.25

0.20

0.15 4

Band 2
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0.55 ~
0.50
0.45
0.40

0.35 -

log SSC

0.15 -

Band 3

41

0.55 -
0.50 -

0.45 4 [

log SSC

T T T T T T
90 95 100 105 110 115 120 125

Band (3+1)

4.12
(3+1) 19 2543
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0.55 -
0.50
0.45.. -
0.40:

0.35 4

log SSC

0.30 -
0.25
0.20 4

0.15 4

Band (3+2)

413
3 yalt

0.55]
| ]
0.50
1 .
0.45 4 = >3
0.40 - s
0.35

0.30 / -
-

0.25 4

log SSC
[
\a®

0.20

0.15 4

Band (3/1)

4.14
(3/1) 19 2543
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0.55
050 ]
0.45-: ]
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0.35

log SSC

0.30 4
0.25 4

0.20

0.15

. : v r - 1 . T .
0.50 0.55 0.60 0.65 0.70 0.75
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(312) 19 2543
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0.40 —
3 0354
w
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0.35

0.30

0.25 4

0.20 +

log SSC

0.15 4

33 34 35 36 37 38
Band 2

419

0.35
0.30
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log SSC
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0.15
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0.35
0.30
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T T T 1
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2 (12
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erosion
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1 2531 2537

4.3 4.30
27,900
4.650
3,600
99,900
16.650
68,400

2 2537 2543

4.3 4.31
Groins
18,900
3,600
600
14,400

2,400

12

&
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( 4.33)
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1
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( 2)

27,900

1( 4.34)
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2531 2543 12
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